CORRECTION

CALCUL MENTAL

OBJECTIF : Calculer des produits par 2, 20, 200, 4, 40, 400.

40 x 12 = 480 1 x 400 =400 40x2 =80 4x2=8
6x4=24 400 x 12 = 4800 20x1=20 20x3 =60
40 x 11 = 440 6 x20=120 11x2=22 7x2=14
20 x 8 =160 4x20=80 400 x 9 = 3600 40 x 10 = 400
200 x 5 =1000 40 x4 =160 6 x40 = 240 15x2 =30
4x7=28 11 x 400 = 4400 20x4 =80 4x4=16
5x2=10 4x15=60 200x 1 =200 2x8=16

14 x 200 = 2800 11x20 =220 2x40 =280 2x5=10
4x2=8 10x4 =40 3X2=6 400 x 10 = 4000
400 x 11 = 4400 4x4=16 9 x40 = 360 7 x40 =280

cm2 - 016

http://micetf.fr/CalculMental/
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